
Restar de Ceros (B)Halle cada diferencia.
1.000 1.000 1.000 1.000- 836 - 217 - 705 - 46
1.000 1.000 1.000 1.000- 883 - 266 - 278 - 312
1.000 1.000 1.000 1.000- 565 - 544 - 378 - 483
1.000 1.000 1.000 1.000- 213 - 944 - 685 - 428
1.000 1.000 1.000 1.000- 734 - 242 - 365 - 188
1.000 1.000 1.000 1.000- 344 - 924 - 571 - 459
1.000 1.000 1.000 1.000- 908 - 145 - 576 - 211
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Restar de Ceros (B) RespuestasHalle cada diferencia.
1000 1000 1000 1000- 836 - 217 - 705 - 46164 783 295 9541000 1000 1000 1000- 883 - 266 - 278 - 312117 734 722 6881000 1000 1000 1000- 565 - 544 - 378 - 483435 456 622 5171000 1000 1000 1000- 213 - 944 - 685 - 428787 56 315 5721000 1000 1000 1000- 734 - 242 - 365 - 188266 758 635 8121000 1000 1000 1000- 344 - 924 - 571 - 459656 76 429 5411000 1000 1000 1000- 908 - 145 - 576 - 21192 855 424 789
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